EAGRAROBREERT — 2 N— ABISH —F

20205108318 (£) 13E1AESH

4R Epgilliivark3e) A

(xwlw | mEmml - |5 @) o s

[A&£] 17 :1,200,000  ~ 23 :360,000 ~ 37#%:192,000 9 ~ 43%&:96,000 ™ 5 :72,000 M

ARICOVWTRDTEEERROODE. TR LI,

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
C— e e REE :27. —1-1- . — Z/EEAN (EE)
ilglg| KTTzs—+ o8 o 1(2_7)7 1-1-1-1 [ 39.0 1 <5+233) shms =]
LixAavf—5— B:Fa—-78147-> BRTUH RS
4 5 | AllRE 1:28.2 10-10-8-6 | 37.2 | — 8 502 | ABEKX (1£R)
2/5|5 hoUaw 55.0 2 1/2) (-8) EREE
L:A—-K7hT43 BiFLIOTv I o #2
v it 6 | WTHE 1:28.4 7-7-7-8 | 37.8| — 6 467 | HEM (£E)
kY 6 TR S 53.0 (1 1/4) @) | BEE—
LTHAFUSv—I BFTYRIAYIA *I LIS
S # 6 | AEER—E 1:28.5 6-6-6-5 |38.5| — 5 432 | WEB (£E)
4178 74—78—-N"—= 56.0 (7€) (-pg) | HEELT
Rib—t>TI54 0 B:b—trI59F BEEH IXT477—LA
SRy oK B o4 | BERH 1:28.6 4-3-2-2 |39.4| — 2 469 | JIIEFEF (1£H)
5011 |Yv>7Ibxy R 0 (3/4) () | AR
R:rvn7x B:ISE-YrIN Y H IS
3 RHEEC :28. 54— X = hEFE (1£8)
6 3 FAHhr~<any 0 55.0 1(32/84)8 R R ! :,9;; /NI .
R:hrN=Z— BNFIAILE NS5
[N N 2IL85E . —8-9— — Z/HEEN (EE)
7 2| VarXEINY % 6 £51.0 (11219/23 899 | 978 ’ (5_215) AL -
L:2v—h77)0> BELIH-—4— BORM S
o o H Al : 45— — XHAE (£8)
8 4| NvE=NYE- 4 5 o (11.219/.24) 3-4-5-7 | 40.0 3 ;1_784) ik
R:YVZABZ—IZXZ— B:kRya—21Z/1N-2X E=xile ]
s e - HFEA :29. 03— X - Jerdiktt (1£%)
98|10 TUHRZE-7 5 e 1(12/92)5 2-2-3-4 | 40.2 4 ;1+219) B "
L:A—KAUFZ B:aXEX4+OU-—X B 77—L4
o . REE_ :31. -9-10~ . = MR (£E)
ol7l 7| ~vES RFAR i 9 ot 1(391)3 9-9-10-10 | 39.6 10 (4;3) gase "
L:g=/FXLLy b B:RE2—U—F1 b NIVEL R T7—L4
® 1 —F—@EBIERL
1T=7r= 9,10,4,1,3,8,6,2,7,5
2a=5F= 9,10,1,4,3,8,6,2,7,5
Ja=9= 9,1,10,3,4,8,6,5,2,7
40—F— 9,1,3,10,8,5,4,6,2,7
[ /N
B 9 130M4 714K 5-9 750 e E 5-8 3,120M JEE 5-6-9 11,840H
B B 9 120M 6-9 810M B = 5-9 2,850H 3B 9-5-6 39,180H
5 660 5-6 4,060 B H 9-5 3,250
6 540H



